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Question 1

Question Type: MultipleChoice

You receive an alert that one of your routers is experiencing critical level CPU utilization. The router details in the web console show as
critical utilization, but you do not consider the utilization on that router to be at a critical level.

What change can you make in NPM to reflect a CPU utilization level you consider to be critical for the device?

Options:

A- Copy the alert, change the trigger threshold, and limit the scope on that device
B- Change the global critical CPU threshold for node statuses
C- Change the critical CPU threshold on the node

D- Change the trigger threshold on the alert

Answer:

C

Question 2




Question Type: MultipleChoice

You configure an alert to send you an email when you have a high CPU load on your devices. Your NPM web console shows several
devices have high CPU utilization, but you have not received any emails. What could be the issue?

Options:

A- The alert threshold is set too high
B- The hardware resources assigned to the system are too low
C- The alerts are muted on the devices

D- SNMP is not configured on the devices

Answer:

C

Question 3

Question Type: MultipleChoice

What is required of your nodes to detect duplex mismatches? (Choose all that apply.)



Options:

A- Duplex of both devices must be identified as full or half
B- Ensure corresponding values for each interface are different
C- The nodes must support topology and be interconnected

D- Unify the duplex mode configuration on neighboring interfaces

Answer:

A, B

Question 4

Question Type: MultipleChoice

You start a new job where NPM is already in use. As soon as you are added to the alert list, you begin receiving "high traffic utilization"
alerts from a handful of interfaces.

When you check the alert, the traffic spike has ended. Your new colleagues advise you to ignore these alerts because the spikes rarely
last for more than a couple of minutes and are only a concern if they last longer.



How should NPM be modified so you receive fewer false alerts?

Options:

A- Configure the alert so that it triggers only when traffic utilization remains high for a sustained period
B- Configure the alert so that it resets only when traffic utilization remains high fora sustained period
C- Increase the status polling frequency on the problematic interfaces

D- Increase the statistics polling frequency on the problematic interfaces

Answer:

A

Question 5

Question Type: MultipleChoice

How many agents does NPM require for Quality of Experience, NetPath, and system monitoring on the same Windows server?

Options:




Answer:

D

Question 6

Question Type: MultipleChoice

Your network includes the headquarters and three remote sites. Users from remote site A complain they do not have access to the
company's accounting server. Users from remote site B and C have access to the accounting server. How can you find the source of the
issue?

Options:

A- Use NetPath to see if there are problem areas between remote site A and the headquarters



B- Verify that the accounting servers' CPU utilization are not abnormally high
C- Use NetPath to see if there are problem areas between remote site A and remote sites B and C

D- Verify that the accounting servers are up

Answer:

A

Question 7

Question Type: MultipleChoice

Which items can you display in Web Console maps?

Options:

A- Monitored nodes and network links
B- Quarks, gluons, Leptons, nodes, and network links
C- Interfaces, volumes, and database instances

D- Monitored nodes, interfaces and volumes, SAM applications and components, and network links



Answer:

Question 8

Question Type: MultipleChoice

Half of your objects in a nested map are down, but the top level map is up. What is the cause?

Options:

A- You set availability thresholds for devices to above 50%
B- You set availability thresholds for devices to below 50%
C- You set map status thresholds to above 50%

D- You set map status thresholds to below 50%

Answer:

D



Question 9

Question Type: MultipleChoice

How can you quickly generate a report in NPM to show the top 50 interfaces by percent utilization?

Options:

A- Create a web-based report and filter the data to restrict to the top 50 interfaces
B- Copy a similar default report and edit it for different time-frames
C- Copy a similar default report and edit it for the top 50 interfaces

D- Create an advanced SQL query report

Answer:

C
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